ER-IERRREE-RR

28 A6 AT
SEXEE TEMASREL

T I T X LOE
TEAH — R X8 7aEp
MRTHEEELH Mg | TR
X7 (GB2KkE) |ZEm=EHEE (27
(TMKRE) |LIEREEREE [122
AREJIFE=37.5 BEIFRE=11.7, ER)IFEH=5.8, AE)IFE=55,
P )IRLE=8, BE)IRE=15.8 FER)IRE=6.3, MEIFiH=9.1,
i mERERRE |RKANRE=74, £EANNRE=16.7, RA)IKE=8.3, £H)IIFigE=10.2,
JNERINFREE=13.1, R IIFREE=31, B)iRig=7.8, KAIIIFE=12.2,
ok EBFINFE=11.1, —/RIIFiE=8.6
-~ KREIFHE=(7, 37.3), BER)IFIEE=(7, 105), TE)IIFiE=(7, 7.2),
EaRe BEIRE=(7, 14.2), RNIFRE=(7, 5.6), REF)IFRiEL=(15, 29.7),
BREFIFE=(7, 9.9), —/RIFEE=(7, 1.7)
fREANGEKRFHR |
IZkBEHE
3R fE 20m/s
2R F YRR BAHEE [20m/s
FERA 20m/s
BEE 20m/s EEES
2RAE T EER BAMEE  [20m/s ExES
HERE  [20m/s BEES
= = gy iy 12B RS E D FES10em
rE REORS sk 1265 1% & O BE300m
SRS e H A 6.0m
e AR HFENA [30m
BAE{E*2 |2.1m
=i L BEPS3miE *° [2.0m
Bt [2.8m
X REWEEHEE |13
TIEWESEHEE 103
AREBINFRIE=30, HER)II5T15=9.3, ER)IIFtigi=4.6, AE)Ili1gi=4.4,
IE ) Fit=6.4, BEJIIFE=12.6, TR Fig=5 #HEIFH=6.9,
e |[RANFRE=59, #ER)IFRE=133, KA)IFE=66 EHF)fiH=8.1,
JIARNFRig=10.4, EBF)1IFRieh=24.8, ;B)II5kigi=6.2, KH)I|ig=9.7,
ok ERFRE=8.8, —/12)IIE=6.8
2 AREJIFE=(5, 30), EERIIFE=(5 9.3), TEFIIFilsi=(5, 64),
EaEE BEp)IRE=(5, 12.6), FERJIIFE=(5, 5), fE)IIFKEH=(5, 6.9),
EB)IFRE=(7, 19.8), EBRFIIFE=(7, 7), —/R)I5E=(5, 6.8)
FREANEKPEHR | _
ICkBEE
fE E 10m/s
AR EHRE BAMEE  [1om/s
HBEMAE |10m/s
fE L 10m/s BEEES
RE EHRE BAEE [10m/s BFEES
HERE  [1om/s FBEHES
= =i Tih 1205 PR E DR S50m
TER X8 BBORE L 2B E D FES15cm
33 2 BA&E A 3.0m
l&/ﬂ ﬁﬁl&lﬁl EE)EI*JLE'J 15m
AR ** |1.6m
=% ks BEPSm 2 [1.6m
At [2.4m
& FEFICFYEENTEINDISE
RME
fE L 100m
- 1RiE BAEHEl [500m
HPRE [500m
EZE] B/INEE40% T, ERTRE65%
BEDZES80cmLL LT, ROLVFh
R 1 KB CULEDIFR
= 2 EREEICLEMER
3 BENFES40cmll £
) B FELYTFHEREMNFCULEBEVBMNSAH V%, SOHIC2BUEHKEFTEINDIEE
i ZH: RIEKE-5CLUT
S 11B20BFETCHRETE 3208 LIEOKSE =IEXEBICUT
EK-BE EEER-ZHOSHT T, [B-2°C~2°C, JEE%LLE

SLEREIAE R ARG

1R E [100mm

UREMRIEN, REMSER OEAShEICLEELEEERLTOET,
2 EAREE T/ FEEEALEMTEOBREET

* EAPY I AT F BB LEPIE (AL ZIIEDET

* R EPE (AT EIED ASILS/ N ETEDERGET



